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Q.36 

 

Topic: The US budget deficit 

Relevant economic 

topics: 

Labour, demand and supply, aggregate demand and 

aggregate supply, the Quantity Theory of Money, basic 

principles of taxation, fiscal policy 

Types of material: Figure, news excerpt, table, opinions 

Question design: 

(total marks: 29 marks) 

Elementary-level questions (15 marks); Advanced-level 

questions (14 marks) 

 

(a) Over the past ten years, the federal net outlays have been higher than the federal 

receipts, reflecting a budget deficit in the US. (1 mark) 

(b) Verbal elaboration: 

 Issuing more government bonds will lead to an increase in the supply of 

government bonds. (1 mark) 

 A downgrade of the sovereign debt rating of the US will lead to a decrease in 

investors’ confidence in government bonds. The demand for government bonds 

will decrease. (1 mark) 

 The price of government bonds will decrease. (1 mark) 

 Illustrate in the diagram: 

 - rightward shift of the supply curve (1 mark) 

 - leftward shift of the demand curve (1 mark) 

 - price decreases (1 mark) 

 

 

 

 

 

 

 

 

 

 

 

(c) According to Source C, as customs duties account for a small proportion of the 

US federal revenue, increasing customs duties would not significantly reduce the 

US budget deficit. (1 mark) 
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(d) No. If the rich have to pay a higher tax rate, the proportion of tax payment to 

their income will increase. This does not follow the ‘equity’ principle of taxation 

put forward by Adam Smith. (2 marks) 

(e) QTM: MV = PY, where M = money supply, V = velocity of circulation of money, 

P = price level and Y = real output, assuming V and Y are constant in the long 

run.  (2 marks) 

 When contractionary monetary policies are imposed, money supply (M) will 

decrease, causing the price level (P) to decrease by the same percentage. 

  (2 marks) 

 With reference to Source C, social welfare expenditures took up a large 

proportion of the major government spending. With reference to the viewpoint 

of the economist in Source D, a lower price level will reduce social welfare 

expenditures in the US, thereby helping reduce the budget deficit.  (1 mark) 

(f) Marks awarded for effective communication (EC: max 2 marks) 

Marks Performance 

2  Arguments supported with the source/data and appropriate 

economic theories 

 Relevant materials presented 

 Well-organised and coherent answers presented without repetition 

of ideas 

 Ideas clearly and fluently expressed with appropriate use of 

language/words/terms/symbols 

1  Arguments presented with some support of the source/data and 

economic theories 

 Some irrelevant materials presented 

 Answers presented in a less organised way with some repetition of 

ideas 

 A clear message conveyed with some inappropriate use of 

language/words/terms/symbols 

0  Arguments presented with no support of the source/data and 

economic theories 

 Materials unrelated to the gist of the question presented 

 Inconsistent arguments presented 

 Limited ideas expressed with inappropriate use of 

words/terms/symbols 
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The maximum marks for content is 12 marks. Answers may include the 

following: 

 

Government revenue and expenditure 

Proposal 1: 

- Attracting more immigrants with higher levels of education can increase the US 

productive capacity. Both the short run and the long run aggregate supply will 

increase. Aggregate output (which can be treated as national income) will 

increase and government tax revenue (such as individual income taxes) will 

increase. 

- Attracting more immigrants with higher levels of education will increase the 

population of the US. Private consumption expenditure will increase. Aggregate 

demand and aggregate output will increase. The profits of firms may increase 

and government tax revenue (such as corporate income taxes) may increase. 

- More immigrants may lead to higher government expenditure (such as 

spending on health). 

Proposal 2: 

- Providing production subsidies to firms will directly increase government 

expenditure. 

- Providing production subsidies to firms may increase the profits of firms, 

government tax revenue (such as corporate income taxes) may increase. 

- Firms will increase their output and may hire more workers when production 

subsidies are provided. Government tax revenue (such as individual income 

taxes) may increase. 

Evaluation: 

Both proposals will increase government revenue and government expenditure, 

so the difference between the two proposals in this aspect is not significant. 

OR 

Proposal 1 is better than proposal 2 because immigrants with higher levels of 

education may have higher productivity. The increase in tax revenue is likely to 

be greater than the increase in government spending. However, if some firms 

under proposal 2 are unprofitable, the corporate income taxes may not 

necessarily increase even if the government provides subsidies. 
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Aggregate output 

Proposal 1: 

- Attracting more immigrants with higher levels of education will raise the 

productive capacity of the US. The short run and the long run aggregate supply 

will increase. Aggregate output in both the short run and the long run will 

increase. 

Proposal 2: 

- Providing production subsidies to firms will reduce the cost of production. 

Short run aggregate supply will increase and aggregate output in the short run 

will increase. 

- Providing production subsidies do not affect the long run aggregate supply. In 

the long run, aggregate output will remain unchanged. 

Evaluation: 

Proposal 1 is better than proposal 2 because proposal 1 will lead to an increase in 

aggregate output in both the short run and the long run, whereas proposal 2 will 

only increase the aggregate output in the short run but cannot increase the 

aggregate output in the long run. 

 

Average labour productivity 

Proposal 1: 

- Workers with higher levels of education are equipped with more knowledge, 

experience and skills. Attracting more immigrants with higher levels of 

education will help increase the average labour productivity of the US. 

Proposal 2: 

- If firms use the production subsidies to provide training for workers, improve 

working conditions, or purchase more advanced producer goods, average labour 

productivity may increase. However, if firms do not use the production subsidies 

on measures that can improve average labour productivity, average labour 

productivity may not be affected. 

Evaluation: 

Proposal 1 is better than proposal 2 because proposal 1 can raise the average 

labour productivity of the US, whereas the effect of proposal 2 on average labour 

productivity is uncertain. 


